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0ooo |U.U,|000
0000000000 (U.U,/0000000000000000.00000000000000
oooo.

at = utN = pt(e e,
+

Kt = ut™N — pt(e e, (3.57)
doooooooboboboo,obbbbobb.
Y 20, PlalOcr P +b(10u1* + 10:-1%)] < |UeU, g (3.58)
1=2,3
ud
Kt —etN —et(unh), (3.59)

goboobooobooboboobbooboooboooD.

> 2[0er*10u]? < [UeUults- (3.60)
1=2,3

oooo |UU,/o000
0000000000 |U,U,/|0000000000000000.00000000002000
000000000. 00

K" = ut"N — ut(petre) (3.61)
goboooboooo,booobooboboobboooobog.

Z 2|@H1|2[|@€I|2 + |®u1|2] < ‘UHUM|%B' (3.62)
I=2,3

gad
Kt = u™N — pF(unh), (3.63)
ggoooooobobobbobobobbooboddououooooag.

Z 20,1 10u1]? < UL UL LG5 (3.64)
1=2,3

3.32 BNLE94900

BNLEM4OOOODOOOOOOOODOOOODOOOOOODOOOO0OOODOOO0OO0O0O0O00O0 [28].D
oo0ooooooon |UMH|2DDDDDDDDD.DDDDD vyMSMOOOOOOOOOoooo, o
ogoooood.

D 10ul? < [Unnltis. (3.65)

I=2,3
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3.3.3 KEKES89, E104 0 O

00000000000000000000 (KEK)OOODOOOODOODO0OODO0oODOoooooooo
00000000000 [29]. KT - w™NOOODOOOODDOODODOOOOOOOODOOOOO0OO
go.

Z 0.1 < |Upnlis. (3.66)
=23

334 TRIUMF OO

00000000000000000000000000,1992000000000000 [30]. 0
00000000 |8,?000000000000. 000000000000000000000
o0.

> 10er]? < |Ueilys- (3.67)
1=2.3

3.35 PIENU OO

000 TRIUMFOOOOOOOOOO [31]. 000000000 |0,4200000000000
0.00000000000000000000000.

> 10l < |Ueils- (3.68)
1=2,3

CHARM 1983

000000 198300000000000 [32)0000000000000.0000 20000
00000.100 beam-dump 000, 00000 wide-band 00D OO00. 00000000000
0000000000000000000000000000000000. 20000000000
00000 9% 000000000.

00 beam-dump 00000000 O00. 00000 400GeV 000000000000 OOOF
00000000,0000000 % 00000.00 0, 0000000000000000000
00000. 0000000000 |U,?~100000000.0000000000000000
00 ete"r, 000000000000 O0O0O0. 0000000000000 NOOOOOOOOO
ooo.

N = NpP(F = v;))AP(v; — eTe 1) (3.69)

000 NpO FOOOOO,PF—y)0FOOOOUOOOODOODOOOODODOOOO,AQOOO
000000000000, P(y; —ete 1) 0000000000000000000O0O0OOOO
0D00000000. 0000 10-250MeV 0000000000000 [U,?00000000
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O0.000:000000000000000.0000 v MSMOOOOOODOODOOOOOOO
gboogogbogooboog.

Y200 P[C18cr]? + C3(18u1l* +10+17)] < |Ueilfr (3.70)
I

1+ 4sin? 6, + 8sin* 6,

Cl = 4 )
1 —4sin? 6, + 8sin* 6,
Cy = 0 )

00 wide-band 00000000 0O0O. O000O0O 400GeVOOODODODODODODOOODOOOO 7, K
0000000,00000000000000000 (000000000 D)D00DO0D. 0000
00000000000000 ete™,, 000000000000 0O0O0. 000O0O0O0O0OODOOO
0D NOODOODOODOOODOoO.

N = [Ny P(m = v))Ay + Nk P(K — v))A]P(v; — et e ve)e (3.71)
000 Ny(M=#,K)00OODOOOOOOOO,P(M—1»)00000000000000000
00000000, Ay 000000000O0OOOOOO,e000000000000000O0.
0000 10-490MeVOOOD0O000000000 |Ug?0,00 10-380MeVOOOOOOODO
000 |U,U,|0000000000000.0000»MSMOOO0O0O0O00000000000
00000000000,

> 21001 P[C1|Ocr* + Cs(10,u1]” + 10711)] < |Ueiltr5
I

> 200uP[C11Ocr* + C3(10u1 ] + 10+1*)] < |UeiltrlUiltr 5 (3.72)
I

CHARM 1986

000000 1986 00000000000 [33]0000000000O000O. 0000 beam-
dump 000 wide-band OO0 2000000000. O00000O00O0O0O00O0 9% 00000
O000. 000 wide-band OO OO0 0DO00OOCOODOOODOOOOODOOOOOODOOOOOOOO
O,0000 beam-dump 000000000, O0DO0D0DO0D0DO0OO0OOODOODOOOO DODODO
D000000ete v, pte ve, et ve, ptp y, 0000000000000000D000000O
0000000. 00000000 NDODOODOOOOO.

N = NpP(D = v;))AP(v; — "Ml y))e (3.73)

000 NpDODOODDO,PD— )0 DODO0OO0ODD (000000D0000)00000
00000000000, A0000000000000000, P(y; =0t~ y»)00000000
000000300000000,e00000000000000000.

000 |U,?000000000000000.DO00O0D0O0O0N (0)00000000000
00000,000000000 ete ve+he, e pty,+he00000. hee 000000000



doooooooooooo.»y]MSMOOOODOOOODOOOODODOOOOODOOODODOODOOOOO.

<|Ueiltr (3.74)

% 19cr*[(C1 + T)|Ocs* + (Cs + T)[Opu1]* + 5101 ]
K
I

_ 2 6 8 4 2
K:2—8xu+8wu—mu—12xulnmu

_ 2 6 8 4 2
T:1—8xﬂ+8xu—xu—12fculnxu

oo |UM|QDDDDDDDDDDDDDDD.DDDDDDDDD (0)oooOooOoooooOoo
oooDOooo,00000n00oogd ,u*u_vu—i-h.c.,u‘e+V€+h.c.DDDDD.VMSMDDDDD
oodoooooooooboboobooooooog.

32 191 *[(C16 +4C27 + T)[Ou1|* + (C30 + 4C4y + T)|Oecs|* + (C36 + 4C47) O+ ]

- o+ T

< Uil #3.75)

6= A,(1—14x7 — 2z, — 1220) + 122, (), — 1)L,

v = IL‘i(Q + 10xi - 1233‘;4)14” + Gxﬁ(l - Qmi + 2:17;‘;)LH,
— 2 6 8 47, .2

T=1-8x,+8x, —x,— 12z, Inz;,

1+ 4sin®#6,, + 8sin* 6,
Cl = 4 )

1
Cy = 5 sin® 0. (2 sin® 0, + 1),

_1—4sin*60,, + 8sin* 0,

4 )
1

Cy = B sin? 0, (2sin? 0, — 1),

; _ a2 (1 _ .2
x; = %, Ap=+/1-422, Ly=In (1—Ay)[1 -3z — (1 —x5)Ad]
I

&
I

At

«

(3.76)

CHARM 1995

000000 19% 00000000000 [340000000000000. 000000000
gooboobooooboobboobboobooboboobooobo. booboooboooboo
O0o00D0000000000, ' w v, 0000000000000, 0000000000000
0000 90%0000000000.00000000000000000 NOOOOOOOOO.

N =N, P(v; — ptuv,)e (3.77)

000 N, 00000000000, P(y;—utp v,)0000000000 ptp v, 000000
0,e0000000000000000.MSMOOODOOOOOOOO0OOO0O0000000000
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googoo.

Z 5 10,12[(C10 + 4C27)[0,u1]? + (C36 + 4C47)(|Oer|? + |0-1]?)]
1)
I

< |Upiltrs (3.78)

6,7, Cola=1,2,3,4)00 (3.76)000000.

3.3.6 NuTeVODO

NuTeVOOOOOOODOOOODOO0O0O0O0O00 [35. 00000000 800GeV 0000
00000000000000000000. 0000000000000000000000, 00
000000000000000. 000000000000000000 pev, puv, pr, pp 000
00000000000. 000000000000000000000000000000000
00000000,00000.25-20GeVO0000000 |U,200000 9% 0000000
00000. 00000000000000000000000000000000. 000000
0000000 »MSMOOOOOOD00000000000000. 4,7, T, Cela=1,2,3,4)00
(3.76) 000000,

Omy, +me < My <2my,

Y2010t +10u1 ) < [Ualts (3.79)
I

ZQTU%P +[©,u1]%) + (C10 + 4C27)[0,u1|* + (C30 + 4C47)(|Oer |* + |071]%)
7 015+4027+T

<|Uults  (3.80)

Omy, +my; < My <m,+m,

§ PRV E] s . ) )
T SEML (016 + 40y +T) + SEMLp, | 1927

+ (C30 +4C1) (0012 + '@Tf'2>>

GEM;
167
< |UM|%B

(3.81)

|@M|2Pn}

P = VaalP£2[(0 - 22)2 = 221+ a2)ly /[ = (wr = 2)2)[1 = (2 +2,)7] (382)



Dmu+mp<M1

2 G%LM?
Z G2 M? G% M3
I

T(|®e[|2 + ’@ [‘2) + (Cl(s + 402,},”@ I|2
Tog (C10+4Coy +T) + L (Pr + P,) {19%3 < z "

+wcw+40nmem2+@ﬂﬁo

GL M}
167
< |Uu|%B

@Mma+&ﬂ

P, = ’Vud|2f3[(1 - xi)z + a:f,(l + xi - 2%2))]\/[1 —(zp — )21 = (2, + 2,)?] (3.84)

3.3.7 IHEP-JINROO

[HEP-JINROOODOOOO 70GeV 0000000000 O000ODO [36). 00000000000
0000000000000 », KOOOOOOD,0000 (0000D000000)0000000
O0000000. 000000000000 ete”,, 00000.000000000000000
0000000000000000000000000000000. 0000 5-493MeV O |Ug?
O0000,000000 3-38MeVO |UgyllUy 00000000 9%%00000. 00000
000000000000 NOOOOOOOOO.

N = Nprot Nar Dy BR(M — 1) x DiBR(v; — ete 1) Qe (3.85)

MO~O0O0O0KOOOOOO, Npoe 0000000000000O0000, Ny OOODOOO, Dy
oo0o0o0oO00o00o0o0o0OO00000,BR(M - ly,) 000000000, 00000000
00000000, D;000000000000000000000, BR(y; »ete ) 00000
00000 ete ., 00000000, Q000000000000,e000000000000O00
goooo.

0000 b5—-493MevV 0000 \Uei\2DDDDDDDDDDDDDDDDDD.

<|Uelts  (3.86)

3o 191 *[19e1[*(C10" +4C27') + (1©,u1]? + 10711%) (C58" +4C4y")]
6/
I

§ = Ac(1 — 1422 — 227 — 1228) + 1222 (22 — 1) L,
v =222+ 1022 — 1201 A, + 622 (1 — 222 + 222) L,
(3.87)

Cula=1,2,3,4)00 (3.76)000000. 00,0000 3—-388MeVOOOD |Ugy||U,y| OO

(3.83)



40

goboobogobooooobog.

3o [0 [1€er|*(C10" + 4C2y") + (1Ou1]* + 10+11*)(C6” + 4Cs7)]
5/
1

< ’Uei’%B’Uui’%B (3-88)

&, 400 (3.87), Cola=1,2,3,4)00 (3.76)000000.

3.3.8 BEBCOO

BEBCODODODOOODDOODOOOD (CERN)DDOOOD [37. 00000 CHARM 000 THEP-
JINROOODOO, beam-dump 00000000. 0000000000000 0000O00OCOO0O
000000,000000000000000. 00000000 1-1800MeVODOO0OOODOO
Ui?, |U,?0000000000090%00000000.0000 [Us4?0000000000

00000000.0000 (4),(B)020000. 000 (4)0000000000000000
ooo.

Z 2\@61\2 [G%M}r’
G2, M? G2 M3 3
I 1527&1 (0" +T)+ fﬁwI |961|2P7/r 1927

<|@ef|2<015' 40 +T)

+ ’@MI‘2<C36/ + 404")// + T) + ‘67'[’2(035/ + 404?:;)%)

G M} 2 1o
T 6r [©er] Pﬂ}
< |Uei|%JB
Pl =VuaP£2[(1 = 22)? = 22(1+ 22)]V[1 — (3 — 2)2][1 — (zr + 2¢)?)] (3.90)

8’0~ 00 (3.87),T0 Cola=1,2,3,4)00 (3.76)000000. 00,000 (B)0OD0OODO
00000D0D0000000.00,0000000000000000000000000000.

02me < Mp < me +my,

GL M} 19273

I 719273

9 - 2 2M5
|® I| % |:GF I <|@el|2(015/+4027/)

+ (10,117 + |©-1*)(C50" + 4047/))] (3.91)

< |Uei|%B



Ome +my, < Mp < me+mg

210.1]? [GQ 2M?
X

GL M} 19273

<|9e1| (C16"+4C' +1T)
I 152#31 (6/ + T)

2 ’ ’ 2 / / (3'92>
+ |@MI| (03(5 4+ 4Cyy +T) + |@7—]| (03(5 +4Cyy )

< |Uei|%B

Ome +m. < My

210,12 GE M}
Z BTE -1 X {152 3{<\661\2(015'+4027’+T)
1927r3 5, + T) 167r I P7/r m

+10,11*(C30" +4C4y +T) + |0,1*(C38’ + 4047/))3 93)

G2 M3

e, ]

< ‘Uei‘UB

§'0+'00 (387),T0 Cola=1,2,3,4)00 (3.76), P, 00 (3.90)000000.
00 |U,4?000000000000000000.00000000 (A),(B)020000.0
00 (A)0000000000000000000.

2/0,.1” {GQ M (
- x |©c1]*(C50 + 4Cyy + T)
2 G5 7y ST p, 1920
+10,I[*(C16 +4Coy + T) + [©:1*(C36 + 4047)) (3.94)
G2 M3
+ ’(9#1‘ P]
< |Um‘|UB

5,7, T, Co(a=1,2,3,400 (3.76)0, P, 00 (3.82) 000000. 00,000 (B)0O00ODO
000000000000000.

Z 2’@T1|2(’961|2 + |®,UI|2) < ‘UH2|%B (395)
I

339 LEPODOOOODO DELPHIODOO

DELPHIOUOUOO CERNOO LEPO0O0OOOOOOOOOOOOO [38). DOOOOOOO,
Z000000000000000000DO0OO0OO0ODO0ODO. DODOOOODO ZDODODOODOO

41
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Z -+ Nv,000,0000 |Oar)2(a=e,pu,7r)00000000000000000.
2> [0arl* < [Ulfg (3.96)
I

0000000000000 U0O0O0OU0OO0,00000DOUDODOOO0O [39)].
gogoobooobbboodoooooooobbbobboooooooobbobbboogooooon
OO0O0oooooooo 3.13,3.14000.



0000000000000 CERNOOOO0O000000000000000000 (LHC)[40],
0000000 FCC-ee[41], SHiP[42) 000,000 O(1GeV)000000000000000O.

34 00D0OO0DOOO0ODOODOOO OO0

00000,000000000000000000000D0O0. 0D0D00o0oooooooo, NyDO
OO00oO0ooOooooooo. NyOOOODOOOoOOOoOOooOooDooooooo,0bo0oooogo
gooboooogooo.

gobogobooobooobooobboobboob,boo0bboobboobboon
o0oDo0ooooo. NyOOODOOO0OoOOooOoOo,00000000D00000O0D00DO, NyOODO
ooooooooo. v,,», 0000 My >140MeVOOOOOOOOOOOOOOOOO,000
0000000010000 [43,44]. OO0OO0OD N;000D0O0OO0O0ODOOOODO,D000 MyO
000 NO N3 ODOOOOOO0OO0 7n, 07y, 00000 010000000000,000

Max[7n,, Tn,] < 0.1sec, (3.97)

goooooobooooooooo.

35 0000000000000 O0O0OO0eOOO

gobooobooooboooboooboboobboooboooboo,obboooboon
goboobogb. oboooboobbuoobbooboooboobbooboooboobo
goobooboooob.boooboooboobbo0obooobooboboobboooboooo
gooooooobooob. oobboooobobooobobbooobbooobbooo,ooobo
goooooooboooboboo. oo, boo0bbbooooboboooobobooooobooooo
gbobggbogob.bobooboobbuoobbooboooboobboobooboboobo
goooooobobooobboooboboo. boboobbbooobbooobbooo,obo
gobooboboooboobobooboboobboooboooo.

|Fal‘%,BU2

Oarl? >

(3.98)

0000000Do0o0o0o00oooDoooooOooOon 3.15,3.16000. 0000 NoO N3OOO
o0, oo oobbobobb. oo oDbobobobobobobbbbobo,
OO0DO000O0DOO000O0ODOOO0CODOoOonD. My=270MeVOOOOODOOOODOOOODO
0000000000000 EY490000000000000000, My =270MeV 00O 490MeV
000000000000 000000000o0 PS191000000000000O. O0OOOOO
gooooooobobooobbooobobooobbdo,ogbbooobbooobbooo. o
OO0 1GeVIODODOOODOD, 0000000000 OO00000000O0ODDO0O0O0O0OOOOOoo
gobogo. ggbbooobboobbuooobooobbuooobooobbooboobo. bo
000000000 0DOOO0000OO0O000D0OC0O0. NHOOOODO My =900MeV, IHOOOO
O My=800MeVOOOOOODOOODOOOOOOOODODO.

43



—
o
-

o
o
—

-
o
i

o
o
—

N

o7

I_ T T T T T T T _ LI T T T T T _ LI T T T T T _ LI T T T T T | @no._”

= 2fra-1 T6TSd HN 3 401

- €Ana7-9 T6TSd a; 5 6V63 ING i

nva . chnermeTeTsd LAY

= .A.....”.”... — NnOH O
- - O
C e N el ] =
E erirogeTNEVHO £ T T E ©
L vriogag: RN E S 17 B

- i /SN ZNN3ld I
g . SRR b A 3 I O
= L NN = 0T M O
- g99€86 TIWIVHO 5y 41 O N EMR T 152 e
. TedaHIMRARER s &
= vo0d34d ..... . \,, = o = o
: e 9998BTINUVHO ™ . n E

N % =

: 890838 ]

= i . O 2 _0T

- HGBETARVHS Z6uig vonug K

N : . VO9E8BTINEVHI. ~._ , ]

= . LS TIBEGETINYVHO .

E 11 1 1 1 1 1 1 _ 111 1 1 1 1 1 _ 1 1 1 1 1 1 1 :...u. b - S 111 1 1 1 | | W

44



45

—
o
—

(noD) NI
00T 10T ,.0T

™
v

vriog3g;

st

va0g3s: 99

TNN3Id

¢6Sd uonug

Knet-rlo T6TSd’
.. SdTHI,

OBETNIVHO.,
g08e86 TNYWHD,

986TWHVHD .. ™.

H ../. <
. geogd
6v63 ING"

} yezeweA

VO9EB6TINIVHO

HI

¢6d4d uonud

0T

60T

60T

0314 IHODOOO |@P000



46

10—6 % T T T T T T T Ig
N ]
107 ¢ q E
o F Q(k ]
o 10°% =
= E 3
N = .
1 B 7
107 | =
o] g 3
1070 o -
- NH :
-11 1 1 1 1 [
10
10t 10°
My (GeV)
0315 NHOOOO |[@20000000
10° g .
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o 10°F
5 E
N —
1l B
o 100 b
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10-10 E_ |
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yMSMOOOODOOOooooooo

41 OOOOOOO

o00o0oooooO,sSUu((2),U(l)y DODODODDODODOODOO ¢, 000,00000,00
gobooobooobb. obboobbooobbooobbooobboobboobob. obo
00000o0oDooo. 000000000000 ooooooooooo yMSMOODOODOOOO
O [45]. YMSMODODODO, N3 00000000000 DO0O0O0ODDO. 0DOOOODOO,000
oooooooboboooboboo0obobo0o. bbb, bboob0Dbboooboboooboo
0o0000.0000,3300000 NOODODODOOODODOODDODODODOOOO,vyMSMOOOOO
gooooooboobOobOobOobOobDOgoo, 3400000 NODODO OlOOOoQOODOoDOo
O,3s50000000000000DO00DOO,0DbO00DODOODOODOOOODOODO.

42 0000 ?2000000000000D0O0OOO

00000 MTO0000000 0000000 v0000000000O0O0DOO0O0OOOO0
0,000000000000 [46,47). 000000O0DO0O0OD,0000000D000DOODOO
Joododooooooo, 000000 ooooo. 0o o0 oooooOooOgao
oo, ooooooboboooo.

M+ = 1tv)

Ry = o e
YT Tt = )

(M+:7T+7K+7"';a7é5)' (41>
gooooooooboboboobbbooobooo,b0booooog.
Aryy = 2 (4.2)

vyYMSMOODOO,000 MODODOOOOODOOOOODOODOOOOOO,0000000000
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0000000000 0000O00. 0D000,0 (41) 000000000000,

Dm0 LIMT = ITvi) + 37 53 T(MT — IENy)

Ry = . (4.3)
DicipaT(MT — lgVi) 203 T(MT = ZENI)

0000 Ary O PMNSOODOO [Uy?00000 |©42000000000000.

Aryy = D123 Uail® + D123 [CTREN _ (4.4)
dim123Usil> + 212103 @BIPG%
ooad G%DDDDDDDDDDD.
—(Ta—T 2
g = | RS T2t )+ (e =) (Mr <mage =)
ol 0 (mM+ -—my, < M[)

gbbooobogbobobuoobogbboobuogboobobooboobooobooboobo
goog.

S UL+ DD 10w =1. (4.6)

i=1,2,3 I=1,2,3

00 46)000,0 (44)0000000000000.
N L+ 21:1,2,3 |@a1‘2[G¥1 - 1]
14301231961 PG — 1]

000 MOOODOOOOODO NyOOOOODOOOO, NyOOODOOOODOOOODOODOO.
000o0o00000dOdodd Ary000000000O0. m, <my, 0000000,0000000
goboooogooo.

Ary ~ 1. (4.7)

o My <mpy —my, 000
0000000 D(M* = IEN) #0,T(M* - IfN;) #0000, 1l,,[3000 NyOOODO
ooo0o0,00000 Ary 00000 47)O0O0OD0ODOO.

o my —my, < Mp<mpy —my, 000
0000000 (MY —I3N;) =0, T(M* - IfN;)#0000,1,000 N, 00000
ooooooo.ooooo, Ary, 0000000o0oooon.

1+ 21:1,2,3 ’@aI‘Q[G% - 1]
1- 21:1,2,3 ‘@ﬁIP

A’FM: — 1. (48)
omM—mla<M1DDD
0000000 DMt —IfN;) =0, (M* - IfN;)=0000,N; 0000000000
O.000000,00000000000000000000C000 Ary,, D00000CO0O
goog.

N 1 - 21:1,2,3 |@al|2 -
1- 21:1,2,3 ‘@BIP

Ary 1. (4.9)



0000000000000000000000,00000 Ar,, 0000000000. 000
0,000000000 N;000000000 |0420 0101 ooo, N0 N30DD0O000
000000000000000000,Ar,00000000000.00,My=Ms;=My0O0O
000.00000 MTO0DDO000000O0O N, 00000000000 (B.18)00O0.

421 Arg0000

D00 MY =K*,If=¢t, 1§ =p*0000000.

+ +
Rsz. (4.10)
O0000000 RxOOOD [48,49]0000000 [50)00000000.
RIM = (2.477 £ 0.001) x 1075, (4.11)
REP = (2.488 £ 0.010) x 107°. (4.12)
0000 RYP0,RM0 100000000000. 0000 Arg00000000.
Arg = (44+4) x 1077, (4.13)

0000,N,3s00000000000000 Arg 000000, 00 KODODOOOOOOODO
GK. 0o 4100000.
00 My <mgx—m,00000,Ar,00000000000.

ZI=2,3 |@eI|2[GK - ] - ZI 2,3 |®u1|2[Gﬁ(1 - 1]
1435 [0uPIGE — 1

~ ) |@d|2 <1— M;{) . (4.14)

1=2,3

AT‘K =

00000000000000, [0uPGl; -1 <1, G ~ri(1—7r)?/re00000. 000,
Arg 000000000 |0,,200000000000000 M3/m?000000. 00000
0000000000000000, M3/m?2~0(10°)00000000000000000. OO
mrg —my < My <mg—m, 00000, Arg 00000000, My <mg—-—m, 000000
ooooo.

ZI=2,3 ©c1|?[GE — 1]+ dr—23 10,1
1- 21:2,3 |@u1|2

~ ) |®ez\2 < —%ﬁif (4.15)

1=2,3

ATK =

mg—m. < MyOOO0ODO,KOOODOOO N;000000000,Arg0000000O0.

5510 O.
21,2,3‘ ul‘ ZI 23‘ I‘ Z (’9u1’2*|981| ). (4.16)
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